Electric Drives Linear Motion and Rexroth
and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group

SRR AR - (IS R R

%%l SM6




2 Bosch Rexroth AG | Pneumatics

EREEA - BB SRS
%%l SM6

— fEmEE, %5 SM6
- > 6 mm il > Y > SASNEDNES » BABNEEKE, WEEEY 32- 256

mm
— e %%SM&% LRk, M8x1, 4-8f, HRTEIEST » BUBNBIERE, A
» 6 mm I » TR » ZiiESk, M8x1, 4-&F, THIRTEIRET » BN E LR, NESTE

= Bk 32- 256 mm ™ = R
B 44

RSB EEIEE
> EHTF Ee8 %% ST6, SM6 » A FREESE L Z5 MNI

EERY, 25 CN2
> HEEE, M8, 4-8F » X B 4T, 4-8F

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEFE, ELPDF, $IETF 2012-02-14, © Bosch Rexroth AG, 4R EB4ALFH



Bosch Rexroth AG | Pneumatics 3
FREBER - (ABN= 5N
t&Rxes, &3 SM6
» 6 mm 8 » HES » LSINEIMOES » HABNEERE, NETED 32 - 256 mm
/ MERE s/ME/ERKE -20°C / +70°C
o= ¥ Vik7ake 271 IP 67
\_/ _— HihES 1 3, 1x BE
v = TR, BERES mA <20
. FERT, ZIERE mA <20
1 ErE 0,5ms
SPE % FSR (RAMESEE) 0,05 mm
EEHE %FSR (BAMESEE) 0,1 mm
HEk 0,3 mm
PEEE 3m/s
HiEE
21718
BR RA_IRE
EXRZRERSETR )
PRBNRE S 10 - 55 Hz, 1 mm
RN 30g/11ms
ek
5 REtER(E k), WIBA4ME
2L BaEE
B4R E MEEE T{EsHEDC HEES HiEES =R
BRX{E. RINEBX
[m] [mm] vl v [mA]
32 R412010141
64 R412010143
96 R412010262
128 R412010264
2 160 15/30 0-10VDC 4-20 mA RA12010411
192 R412010413
224 R412010415
256 R412010417
BE., Ak &I ENIES
ERRART, RIRERY, SHERP

HEFIRIARM RS MBE A RO CEEIITER, H#AERIERYE
SF=f@-BR, ELPDF, HIETF 2012-02-14, © Bosch Rexroth AG, {REEEMLF




4 Bosch Rexroth AG | Pneumatics

RRBER - UBNEELRSE

f&i%z28, %I SM6
> 6 mm 48 » FHEL » LD BIAED > FUBNRIEHE, WESEEHD 32- 256 mm

i
1* 2% 3*

:J BN
WH

BU
~-63
24,2

37,1
@ ]|
© N
[5) [e) C‘\j i
© 5,8
@ |[58]
13,6

1* = LED 2* = Teach #0 3* = £ 3L48£T M3x11
L=BgKE
(1) BN=AZf& (2) WH=Af& (3) BU=. & (4) BK=2f

PR A
R412010141 45
R412010143 77

R412010262 109
R412010264 141
R412010411 173
R412010413 205
R412010415 237
R412010417 269

HEFIRRR MRS S MEE R PO S EREAMER, FEERE LMY E
SEHER-BF, ELPDF, #IET 2012-02-14, © Bosch Rexroth AG, {REEMALF



Bosch Rexroth AG | Pneumatics 5
ERBRA - ABNEERE
£ R%2%, %% SM6
> 6 mm It » HEL » STIEL, M8x1, 4-81, HIiRTEIRET » HABNE(EREE, NEEESD 32 - 256 mm
MERE s/ME/ERKE -20°C / +70°C
— B SR IP 67
e WS 1x B, 1x BIE
\“/W/ MEAA, BERTS mA <20
: aote4a12 EE B, ZIERE mA <20
P ERR 0,5ms
DEE % FSR (BAMESEE) 0,05 mm
EERE % FSR (BAMETEH) 0,1 mm
HEk 0,3 mm
PEEE 3m/s
PR E
EXOY
BF RAE_RE
ERZBERTER HEE
PRBNRE S 10 - 55 Hz, 1 mm
RN 30g/11ms
L
= BER(Ek), WIBAHEME
::Ey BRI
HEKE WESCHE T {EHEDC HEES HiiES ais
mX{E. ®/IVERX
[m] [mm] [V] [Vl [mA]
32 R412010142
64 R412010144
i 96 R412010263
ﬁ;g 7 0,3 12? 15/30 0-10V DC 4-20mA 2:1;8182?2
192 R412010412
224 R412010414
256 R412010416
BE., HAEk: ZRdEk; M8x1; 4-8f; HHRTEIEST
BRI, RIRERY,; THARP

HEFIRIARM RS MBE A RO CEEIITER, H#AERIERYE
SF=f@-BR, ELPDF, HIETF 2012-02-14, © Bosch Rexroth AG, {REEEMLF




6 Bosch Rexroth AG
RERBEAR - UBN= N33

| Pneumatics

f&i%z28, %I SM6
> 6 mm I » RS » SiSHEL, M8x1, 4-8F, HHRIEIRST » HABME LS,

MEFEEH 32 - 256 mm

5
1* 2 3*
A L
—— @ ——
© - 40
24,2
371
28,1
@ = =
© N
[») o) o) i
)

1* = LED 2* = Teach 30 3* = J3L484T M3x11

L=HBgKE

IBHEE : 1 = (+), 2 = (OUT 1) 3 = (GND), 4 = (OUT 2), EN 60947-5-7

M8x1

2=

D

1 =

58
13,6

00133788

PR A
R412010142 45
R412010144 77
R412010263 109
R412010265 141
R412010410 173
R412010412 205
R412010414 237
R412010416 269

HEFIRRR MRS S MEE R PO S EREAMER, FEERE LMY E
SEHER-BF, ELPDF, #IET 2012-02-14, © Bosch Rexroth AG, {REEMALF




Bosch Rexroth AG | Pneumatics 7
FREBER - (ABN= 5N
& R%es, &3 SM6
Pt 14
ERSEETERE
» ST £E2E &% ST6, SM6 » ATFLEAESE E &%) MNI
i 2L‘ S5 esEY
? o .
! - E
e E S/
" ot10587
i
!
1 =3 T
i .,/é\ - A _
‘
\ /M
S i
. L —1]
- ™ - B -
1 \!‘\ D .G
1) EIEIEET 2) fERAEEEIEIRET 3) fRRks8 4) REIME
EafB St o A B (o D E F G 1) [ MA1 [Nm]
[mm]
1827020296 10-10 20 8 24 19 17,5 11,8 3 M3x8 1+0,2
1827020297 12-12 20 8 26 22 19 11,8 3 M3x8 1 40,2
1827020298 16- 16 20 12 34 30 23 13,8 4 M4x10 2+0,3
1827020299 20 - 20 20 12 38 32 26 13,8 4 M4x10 2+0,3
1827020300 25-25 20 12 43 37 31 13,8 4 M4x10 2+0,3
B #E EE
[kg]
1827020296 $aHF 0,009
1827020297 $AHF 0,01
1827020298 2r o) 0,014
1827020299 $aHF 0,014
1827020300 $EHF 0,015
EERELS, R5 CN2
> IHEE, M8, 4-& » FFIR B4ILL R, 4-6
NERE s/IME/RKE -40°C / +85°C
FiP &L IP 65
S&8m| 0,25 mmz2
‘.ll Y
< AN A

00107009_a

HEFIRIARM RS MBE A RO CEEIITER, H#AERIERYE
SF=f@-BR, ELPDF, HIETF 2012-02-14, © Bosch Rexroth AG, {REEEMLF




8 Bosch Rexroth AG | Pneumatics

RRBER - UBNEELRSE

f&%z28, % SM6
Bt

BAMEE

n AEHNRPEZIERFERRIRENKT.

HSED | T8 i BAI5| % B4-0 B4R L P
E
[#O1] [#02] | [V DC] [mm] [m]
; o B 180° 3 1834484144
2> wH FRst Bk B 180° 5 1834484146
35— pu | fBEE, M8, 4-8t i aar| 2 4 290° = 45 3| 1834484145
4>—1—BK
£90° T 5 1834484147
AN ) Bk
1834484144 Fig. 1
1834484146 Fig. 1
1834484145 Fig. 2
1834484147 Fig. 2
Fig. 1
\4 x0,25mm 2
sl 2 -
3+2
~40
(1) BN=kf& (2) WH=F & (3) BU=I5f& (4) BK=E &
I— = 'li/t 2.

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

SHER-BEFE, ELPDF, $IETF 2012-02-14, © Bosch Rexroth AG, 4R EB4ALFH




Bosch Rexroth AG | Pneumatics

RRBRR - UBNEELRSE

& R%28, %I SM6
P4
Fig. 2
29,7
M8x1
4 x0,25mm 2
(1) BN=1%f2 (2) WH=A (3) BU=I£f& (4) BK=-2 & 7
L=KE

HEFIRIARM RS MBE A RO CEEIITER, H#AERIERYE
SF=f@-BR, ELPDF, HIETF 2012-02-14, © Bosch Rexroth AG, {REEEMLF



Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
14-02-2012



	&#20256;&#24863;&#22120;, &#31995;&#21015; SM6
	&#20256;&#24863;&#22120;, &#31995;&#21015; SM6
	&#20256;&#24863;&#22120;&#22266;&#23450;&#35774;&#22791;
	&#36830;&#25509;&#30005;&#32518;, &#31995;&#21015; CN2

